<?xml version="1.0"?>
<xs:schema attributeFormDefault="qualified"
xmlns:xs="http://www.w3.0rg/2001/XMLSchema">
<xs:element name="DokAPDRKGPv3" nillable="true">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="Precizejums"
nillable="true" type="xs:boolean" />
<xs:element minOccurs="0" maxOccurs="1" name="PrecizejamaisDokuments"
nillable="true">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="PrecizejumaPamatojums"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Id" nillable="true">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="UID" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="NmrKods"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="IesniegumaDati'">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="IesniegumaDatums"
nillable="true" type="xs:date" />
<xs:element minOccurs="0" maxOccurs="1" name="PakalpojumaKanals"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="CitsLietotajs"
type="xs:boolean" />
<xs:element minOccurs="0" maxOccurs="1" name="Parakstitaji'">
<xs:complexType>
<xs:sequence>
<xs:element minOccurs="0" maxOccurs="unbounded" name="R"
nillable="true">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1"
name="PersonasKods" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
name="VardsUzvards" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
name="Pamatojums" type='"xs:string" />
</xs:all>
</xs:complexType>
</xs:element>
</Xs:sequence>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="IesniegumaFaili'">
<xs:complexType>
<Xs:sequence>
<xs:element minOccurs="0" maxOccurs="unbounded" name="R"
nillable="true">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1"



name="Komentars" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Fails">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1"
name="UID" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
name="Nosaukums" type="xs:string" />
<xs:element minOccurs="1" maxOccurs="1"
name="Saturs" type="xs:base64Binary" />
<xs:element minOccurs="0" maxOccurs="1"
name="Hash" type="xs:string" />
</xs:all>
<xs:attribute name="IsAttachment"
type="xs:boolean" />
</xs:complexType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
</Xs:sequence>
</xs:complexType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="TaksNo" nillable="true"
type="xs:dateTime" />
<xs:element minOccurs="0" maxOccurs="1" name="TaksLidz" nillable="true"
type="xs:dateTime" />
<xs:element minOccurs="0" maxOccurs="1" name="Epasts"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Talrunis" type="xs:string"
/>
<xs:element minOccurs="0" maxOccurs="1" name="Sagatavotajs"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="IesniegtsGadaParskats">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="Id" type="xs:string"
/>
<xs:element minOccurs="0" maxOccurs="1" name="IesniegsanasDatums"
nillable="true" type="xs:dateTime" />
<xs:element minOccurs="0" maxOccurs="1" name="IrEDS"
type="xs:boolean" />
</xs:all>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="Darbinieki"
nillable="true">
<xs:simpleType>
<xs:restriction base="xs:int">
<xs:pattern value="[\-+]?[\d\.]{0o,11}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="SlegBilance"
nillable="true" type="xs:boolean" />
<xs:element minOccurs="0" maxOccurs="1" name="NoapalosanasPakape"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Bilance">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="BaBeigas">



<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="R10">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R15">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R15LietotajaDefinets" type='"xs:string" />

<xs:element minOccurs="0" maxOccurs="1" name="R16">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="Rl1l6LietotajaDefinets" type="xs:string" />

<xs:element minOccurs="0" maxOccurs="1" name="R17">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R17LietotajabDefinets" type="xs:string" />

<xs:element minOccurs="0" maxOccurs="1" name="R18">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</Xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R18LietotajaDefinets" type='"xs:string" />

<xs:element minOccurs="0" maxOccurs="1" name="R19">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R19LietotajaDefinets" type="xs:string" />

<xs:element minOccurs="0" maxOccurs="1" name="R20'">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R30'">
<xs:simpleType>
<xs:restriction base="xs:1long">



<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R45LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R46LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R47LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R48LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R49LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
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name="R60">



<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R75LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R76LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R77LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R78LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R79LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R85LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R86LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R87LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R88LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R89LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R95LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
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<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R96LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R97LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R98LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R99LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</Xxs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R105LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R106LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
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</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R107LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R108LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R109LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R135LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R136LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">
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<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R137LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R138LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R139LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R165LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R166LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
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<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R167LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R168LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R169LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R197LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
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name="R168">
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name="R169">
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name="R180">
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name="R181">
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name="R182">
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name="R190">
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name="R197">
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name="R198">



<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R198LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R199LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R225LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R226LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R227LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R228LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R229LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R365LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R366LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R367LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R368Lietotajabefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>

name="R229">
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<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R369LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R370">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R378">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R378LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R379">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R379LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R380">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R390">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R400">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R410">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="BaSakums">



<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="R10">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R15">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R15LietotajaDefinets" type='"xs:string" />

<xs:element minOccurs="0" maxOccurs="1" name="R16">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="Rl1l6LietotajaDefinets" type="xs:string" />

<xs:element minOccurs="0" maxOccurs="1" name="R17">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R17LietotajabDefinets" type="xs:string" />

<xs:element minOccurs="0" maxOccurs="1" name="R18">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</Xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R18LietotajaDefinets" type='"xs:string" />

<xs:element minOccurs="0" maxOccurs="1" name="R19">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R19LietotajaDefinets" type="xs:string" />

<xs:element minOccurs="0" maxOccurs="1" name="R20'">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R30'">
<xs:simpleType>
<xs:restriction base="xs:1long">



<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R45LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R46LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R47LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R48LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R49LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
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name="R60">



<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R75LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R76LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R77LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R78LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R79LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R85LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R86LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R87LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R88LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R89LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R95LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>

name="R85">
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name="R96">



<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R96LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R97LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R98LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R99LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</Xxs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R105LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R106LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
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</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R107LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R108LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R109LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R135LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R136LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

name="R108">
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name="R109">
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name="R110">
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name="R120">
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name="R130">
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name="R135">
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name="R136">

20}" />

name="R137">



<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R137LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R138LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R139LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R165LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R166LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
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name="R150">
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name="R160">
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name="R165">
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name="R166">
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<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R167LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R168LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R169LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R197LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
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name="R168">
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name="R169">
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name="R180">
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name="R181">
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name="R182">
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name="R190">
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name="R198">



<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R198LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R199LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R225LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R226LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R227LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R228LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R229LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R365LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R366LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R367LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R368Lietotajabefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>

name="R229">

20}" />

name="R230">

20}" />

name="R340">
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<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R369LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R370">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R378">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R378LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R379">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R379LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R380">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R390">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R400">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R410">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="BpBeigas">



<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R87LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,
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</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R88LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R89LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R195LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R196LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R197LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R198LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R199LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R235LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R236LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R237Lietotajabefinets" type="xs:string" />

name="R197">

20}" />

name="R198">

20}" />

name="R199">

20}" />

name="R200">

20}" />

name="R235">

20}" />

name="R236">

20}" />

name="R237">

20}" />



<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R238LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R239LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R269LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>

name="R238">
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name="R239">
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name="R240">
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name="R250">
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name="R260">
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name="R261">
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name="R270">
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name="R280">



<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">
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<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R418LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R419LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R425LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R426LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R427LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
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name="R428LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R429">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R429LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R440">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="BpSakums">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="R20">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R30">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R40">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R50">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R60">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R70">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>



</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R87LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R88LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R89LietotajaDefinets" type='"xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R80">
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name="R87">
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name="R88">
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name="R89">
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name="R90">
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name="R120">
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name="R130">
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name="R140">
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name="R150">



<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R195LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R196LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R197LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R198LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R199LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R235LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R236LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R237LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R238LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R239LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

name="R236">
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20}" />

name="R250">
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</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R269LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">
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<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R418LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R419LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R425LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
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</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R426LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R427">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R427LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R428">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R428LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R429">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R429LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="R440">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="PelnasZaudejumuAprekins'">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="PzaBeigas'>
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="R10">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R20">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>



<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R30">
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name="R40">
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name="R41">
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name="R42">

20}" />

name="R50">

20}" />

name="R51">

20}" />

name="R52">

20}" />

name="R53">
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name="R54">

20}" />

name="R60">



<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</Xxs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
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name="R81">
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name="R82">

20}" />

name="R83">
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name="R84">

20}" />

name="R85">
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name="R86">
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name="R90">
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name="R100">



<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">
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<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R310">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R320">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R322">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="PzaSakums">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="R10">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R20">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R30">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R40">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R41">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>



</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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name="R53">
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name="R54">
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name="R80">
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20}" />



</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>

name="R82">
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name="R83">

20}" />

name="R84">

20}" />

name="R85">

20}" />

name="R86">

20}" />

name="R90">

20}" />

name="R100">

20}" />

name="R170">

20}" />

name="R190">

20}" />



<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R200">

20}" />

name="R210">

20}" />

name="R220">

20}" />

name="R230">

20}" />

name="R280">

20}" />

name="R290">

20}" />

name="R300">

20}" />

name="R310">

20}" />

name="R320">

20}" />

name="R322">



<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="NaudasPlusmasParskats">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="NppBeigas'>
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="R20">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R30">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R40">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R50">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R60">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R70">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R80">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />



</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R135LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R136LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R90">
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name="R100">
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name="R110">

20}" />

name="R120">
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name="R130">

20}" />

name="R135">

20}" />

name="R136">

20}" />

name="R137">

20}" />



name="R137LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R138LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R139LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R185LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"

name="R138">
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name="R10">
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name="R150">
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name="R160">
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name="R170">
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name="R180">

20}" />

name="R185">
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name="R186">



<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R186LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R187LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R188LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R189LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

20}" />

name="R187">

20}" />

name="R188">

20}" />

name="R189">

20}" />

name="R140">

20}" />

name="R200">

20}" />

name="R210">

20}" />

name="R220">

20}" />

name="R230">



<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R265LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R266LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R267LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R268LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"

20}" />

name="R240">

20}" />

name="R250">

20}" />

name="R260">

20}" />

name="R265">

20}" />

name="R266">

20}" />

name="R267">

20}" />

name="R268">

20}" />

name="R269">



<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R269LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xs:element>
</xs:all>
</xs:complexType>
</Xxs:element>

20}" />

name="R190">

20}" />

name="R280">

20}" />

name="R290">

20}" />

name="R270">

20}" />

name="R300">

20}" />

<xs:element minOccurs="0" maxOccurs="1" name="NppSakums'>

<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"

name="R20">

20}" />

name="R30">

20}" />

name="R40">



<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</Xxs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>

20}" />

name="R50">

20}" />

name="R60">

20}" />

name="R70">

20}" />

name="R80">

20}" />

name="R90">

20}" />

name="R100">

20}" />

name="R110">

20}" />

name="R120">

20}" />

name="R130">



<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R135LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R136LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R137LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R138LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R139LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>

20}" />

name="R135">

20}" />

name="R136">

20}" />

name="R137">

20}" />

name="R138">

20}" />

name="R139">

20}" />

name="R10">

20}" />

name="R150">

20}" />



<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R185LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R186LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R187LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R188LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>

name="R160">

20}" />

name="R170">

20}" />

name="R180">

20}" />

name="R185">

20}" />

name="R186">

20}" />

name="R187">

20}" />

name="R188">

20}" />

name="R189">

20}" />



<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R189LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>

name="R140">
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name="R200">

20}" />

name="R210">

20}" />

name="R220">

20}" />

name="R230">

20}" />

name="R240">

20}" />

name="R250">

20}" />

name="R260">

20}" />

name="R265">

20}" />



</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R265LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R266LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R267LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R268LietotajabDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="R269LietotajaDefinets" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

name="R266">
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name="R267">

20}" />

name="R268">

20}" />

name="R269">

20}" />

name="R190">

20}" />

name="R280">

20}" />

name="R290">

20}" />

name="R270">

20}" />



</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R300">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="KapitalaRezervjuIzmainuParskats">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="KripBeigas'">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="R10">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R20">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R30">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R40">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R50">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R60">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>



</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
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<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
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<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</Xxs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
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<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">
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<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,
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</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
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</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
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<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
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<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</Xxs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
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<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">
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<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,
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</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
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</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
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<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
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<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</Xxs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
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<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">
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<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
</xs:all>
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="KripSakums'">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="R10">
<xs:simpleType>
<xs:restriction base="xs:1long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R20'">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R30'">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R40">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R50">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R60">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R70">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="R80">
<xs:simpleType>
<xs:restriction base="xs:long">
<xs:pattern value="[\-+]?[\d\.]{0,20}" />
</xs:restriction>



</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
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<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
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<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</Xxs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
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<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">
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<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,
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</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
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</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
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</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>
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<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
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<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</Xxs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
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name="R640">
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name="R650">
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name="R651">
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name="R652">
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name="R653">
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name="R654">



<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">
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name="R655">
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name="R656">
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name="R657">
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name="R658">
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name="R660">

20}" />

name="R670">

20}" />

name="R680">

20}" />

name="R690">

20}" />

name="R700">



<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,
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20}" />

name="R761">
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name="R763">
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</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xxs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>

name="R764">

20}" />

name="R765">
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name="R766">

20}" />

name="R767">
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name="R768">

20}" />

name="R770">

20}" />

name="R780">

20}" />

name="R790">

20}" />

name="R800">

20}" />



</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>

name="R810">

20}" />

name="R820">

20}" />

name="R830">

20}" />

name="R840">

20}" />

name="R850">

20}" />

name="R860">

20}" />

name="R870">

20}" />

name="R871">

20}" />

name="R872">

20}" />



</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</Xs:element>

name="R873">

20}" />

name="R874">

20}" />

name="R875">

20}" />

name="R876">

20}" />

name="R877">

20}" />

name="R878">

20}" />

name="R880">

20}" />

name="R890">

20}" />

name="R900">

20}" />



<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
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name="R920">
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name="R930">
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name="R940">
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name="R970">
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name="R981">
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name="R982">



</

</Xs

</Xs:e

</xs:all

</xs:compl

</Xs:element
<xs:element

<xs:comple

<xs:all>

<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:1long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0o,

</Xxs:restriction>
</xs:simpleType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0O,

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
<xs:simpleType>
<xs:restriction base="xs:long">

<xs:pattern value="[\-+]?[\d\.]{0,

</Xs:restriction>
</xs:simpleType>

</xs:element>

xs:all>

:complexType>

lement>

>

exType>

>
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<xs:element minOccurs="0" maxOccurs="1" name="RevZinDat"
nillable="true" type="xs:dateTime" />
<xs:element minOccurs="0" maxOccurs="1" name="RevidentsJp"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="RevJpLicNr"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="RevFpSertNr"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="RevKoment"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
name="ZverinataRevidentaAtzinums">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="UID"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Nosaukums"
type="xs:string" />
<xs:element minOccurs="1" maxOccurs="1" name="Saturs"
type="xs:base64Binary" />
<xs:element minOccurs="0" maxOccurs="1" name="Hash"
type="xs:string" />
</xs:all>
<xs:attribute name="IsAttachment" type="xs:boolean" />
</xs:complexType>
</Xs:element>
</xs:all>
</xs:complexType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1" name="CitiDokumenti'">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="VadibasZinojums'">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="UID"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Nosaukums"
type="xs:string" />
<xs:element minOccurs="1" maxOccurs="1" name="Saturs"
type="xs:base64Binary" />
<xs:element minOccurs="0" maxOccurs="1" name="Hash"
type="xs:string" />
</xs:all>
<xs:attribute name="IsAttachment" type="xs:boolean" />
</xs:complexType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1" name="Pielikums">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="UID"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Nosaukums"
type="xs:string" />
<xs:element minOccurs="1" maxOccurs="1" name="Saturs"
type="xs:base64Binary" />
<xs:element minOccurs="0" maxOccurs="1" name="Hash"
type="xs:string" />
</xs:all>
<xs:attribute name="IsAttachment" type="xs:boolean" />
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="PazinojumsParVadibasAtbildibu">



<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="UID"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Nosaukums"
type="xs:string" />
<xs:element minOccurs="1" maxOccurs="1" name="Saturs"
type="xs:base64Binary" />
<xs:element minOccurs="0" maxOccurs="1" name="Hash"
type="xs:string" />
</xs:all>
<xs:attribute name="IsAttachment" type="xs:boolean" />
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="SapulcesProtokolaIzraksts'">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="UID"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Nosaukums"
type="xs:string" />
<xs:element minOccurs="1" maxOccurs="1" name="Saturs"
type="xs:base64Binary" />
<xs:element minOccurs="0" maxOccurs="1" name="Hash"
type="xs:string" />
</xs:all>
<xs:attribute name="IsAttachment" type="xs:boolean" />
</xs:complexType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1" name="AktuaraNovertejums'>
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="UID"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Nosaukums"
type="xs:string" />
<xs:element minOccurs="1" maxOccurs="1" name="Saturs"
type="xs:base64Binary" />
<xs:element minOccurs="0" maxOccurs="1" name="Hash"
type="xs:string" />
</xs:all>
<xs:attribute name="IsAttachment" type="xs:boolean" />
</xs:complexType>
</xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="FinansuParskatsVEZF">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="UID"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Nosaukums"
type="xs:string" />
<xs:element minOccurs="1" maxOccurs="1" name="Saturs"
type="xs:base64Binary" />
<xs:element minOccurs="0" maxOccurs="1" name="Hash"
type="xs:string" />
</xs:all>
<xs:attribute name="IsAttachment" type="xs:boolean" />
</xs:complexType>
</Xs:element>
<xs:element minOccurs="0" maxOccurs="1"
name="RevidentaAtzinumsParIlgtspejasZinojumu">
<xs:complexType>



<xs:all>
<xs:element minOccurs="0" maxOccurs="1" name="UID"
type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Nosaukums"
type="xs:string" />
<xs:element minOccurs="1" maxOccurs="1" name="Saturs"
type="xs:base64Binary" />
<xs:element minOccurs="0" maxOccurs="1" name="Hash"
type="xs:string" />
</xs:all>
<xs:attribute name="IsAttachment" type="xs:boolean" />
</xs:complexType>
</Xxs:element>
<xs:element minOccurs="0" maxOccurs="1" name="Citi">
<xs:complexType>
<XSs:sequence>
<xs:element minOccurs="0" maxOccurs="unbounded" name="R"
nillable="true">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1"
name="Apraksts" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1" name="Fails">
<xs:complexType>
<xs:all>
<xs:element minOccurs="0" maxOccurs="1"
name="UID" type="xs:string" />
<xs:element minOccurs="0" maxOccurs="1"
name="Nosaukums" type="xs:string" />
<xs:element minOccurs="1" maxOccurs="1"
name="Saturs" type="xs:base64Binary" />
<xs:element minOccurs="0" maxOccurs="1"
name="Hash" type="xs:string" />
</xs:all>
<xs:attribute name="IsAttachment"
type="xs:boolean" />
</xs:complexType>
</xs:element>
</xs:all>
</xs:complexType>
</Xxs:element>
</Xs:sequence>
</xs:complexType>
</Xs:element>
</xs:all>
</xs:complexType>
</Xs:element>
</xs:all>
</xs:complexType>
</Xs:element>
</Xs:schema>



